



ON THE TWO EQUIVALENT DEFINITIONS OF MODULAR LATTICES WITH UNIT ELEMENT

CHUNYAN WANG, KUNLONG ZHANG and LEI YUAN

Department of Mathematics
Central University for Nationalities
Beijing 100081, P. R. China

Abstract

For modular lattices with unit element, the paper is on the basis of deleting the conditions of $1 \vee a = 1$, $a \wedge 1 = a$ and simplifying equation M_{21} in [4]. We give two much simpler equivalent conditions.

Definitions of two and three conditions of modular lattices with unit element were given in paper [4]. According to flexibility of operations \vee and \wedge , we again obtain two more simplified definitions of modular lattices with unit element.

1. Original Definition with Unit Modular Lattice

Original definition (1) with unit modular lattice is denoted by the following six conditions:

$$L_1 : a \vee a = a, a \wedge a = a \text{ (idempotent law).}$$

$$L_2 : a \vee b = b \vee a, a \wedge b = b \wedge a \text{ (commutative law).}$$

$$L_3 : (a \vee b) \vee c = a \vee (b \vee c), (a \wedge b) \wedge c = a \wedge (b \wedge c) \text{ (associative law).}$$

2000 Mathematics Subject Classification: 03G10.

Keywords and phrases: modular lattices, unit element, equivalency.

Supported by the NSFC (19801016, 10261003).

Received March 20, 2009

$$L_4 : a \vee (a \wedge b) = a, \quad a \wedge (a \vee b) = a \quad (\text{absorptive law}).$$

$$L_5 : a \wedge (b \vee (a \wedge c)) = (a \wedge b) \vee (a \wedge c) \quad (\text{modular law}).$$

$$L_6 : \text{being unit element } 1 \text{ with } a \vee 1 = 1 \vee a = 1, \quad a \wedge 1 = 1 \wedge a = a. \quad (1)$$

2. Definition with Unit Modular Lattice Denoted by Three Conditions

The following is definition (2) with unit modular lattice denoted by three conditions:

$$M_{11} : a \wedge (b \vee (a \wedge c)) = (c \wedge a) \vee (b \wedge a).$$

$$M_{12} : (a \wedge b) \wedge c = a \wedge (b \wedge c).$$

$$M_{13} : \text{being unit element } 1 \text{ with } a \vee 1 = 1, \quad 1 \wedge a = a. \quad (2)$$

Lemma 2.1. *Original definition (1) with unit modular lattice denoted by six conditions is equivalent with definition (2) with unit modular lattice denoted by three conditions (additional conditions $1 \vee a = 1$ and $a \wedge 1 = a$), i.e., (3) in proof of Theorem 2.1.*

Proof. See paper [4].

Theorem 2.1. *The definition of a nonempty set with two binary operations \vee, \wedge is a modular lattice with unit if and only if condition (2) holds on L .*

Proof. (2) \Rightarrow (1) Set $a = 1, b = c = a$ in M_{11} , we have $1 \wedge (a \vee (1 \wedge a)) = (a \wedge 1) \vee (a \wedge 1)$, then using $1 \wedge a = a$, we have

$$a \vee a = (a \wedge 1) \vee (a \wedge 1). \quad (I)$$

Set $c = 1, b = 1$ in M_{11} , by $1 \wedge a = a$, we have

$$a \wedge (1 \vee (a \wedge 1)) = (1 \wedge a) \vee (1 \wedge a) = a \vee a. \quad (II)$$

Set $b = a, a = c = 1$ in M_{11} , by $a \vee 1 = 1, 1 \wedge a = a$, we have

$$1 \wedge (a \vee (1 \wedge 1)) = (1 \wedge 1) \vee (a \wedge 1) \Leftrightarrow 1 = 1 \vee (a \wedge 1). \quad (III)$$

In this case, by (III), we know that $1 \vee (a \wedge 1)$ can be substituted with 1 in (II), then we have $a \wedge 1 = a \vee a$, by (I), we have $a \vee a = (a \vee a) \vee (a \vee a)$, then we regard $a \vee a$ as a' , we have $a' = a' \vee a'$, invoking it, we use (I) again, we get $a = a \wedge 1$,

invoking it and (III), we have $1 = 1 \vee a$. From the above, we can substitute M_{13} with M'_{13} , its form is as follows:

$$M'_{13} : \text{being unit element } 1 \text{ with } a \vee 1 = 1 \vee a = 1, a \wedge 1 = 1 \wedge a = a,$$

we assume

$$M_{11} : a \wedge (b \vee (a \wedge c)) = (c \wedge a) \vee (b \wedge a).$$

$$M_{12} : (a \wedge b) \wedge c = a \wedge (b \wedge c).$$

$$M'_{13} : \text{being unit element } 1 \text{ with } a \vee 1 = 1 \vee a = 1, a \wedge 1 = 1 \wedge a = a. \quad (3)$$

From the above proof, we know $(2) \Leftrightarrow (3)$.

So we only need to prove $(3) \Leftrightarrow (1)$, however it can easily be obtained from Lemma 2.1.

$(1) \Rightarrow (2)$ Because $(1) \Rightarrow (2)$ is equivalent with $(1) \Rightarrow (3)$, however the proof of $(1) \Rightarrow (3)$ can be obtained from Lemma 2.1. This completes the proof.

3. Definition with Unit Modular Lattice Denoted by Two Conditions

Definition (4) with unit modular lattice is denoted by two conditions:

$$M_{21} : a \wedge ((b \wedge d) \vee (a \wedge (c \wedge d))) = (d \wedge (c \wedge a)) \vee (d \wedge (b \wedge a)).$$

$$M_{22} : \text{being unit element } 1 \text{ with } a \vee 1 = 1, 1 \wedge a = a. \quad (4)$$

Theorem 3.1. *The definition of a nonempty set L with two binary operations \vee, \wedge is a modular lattice with unit if and only if condition (4) holds on L .*

Proof. In fact, we only need to prove that definition of two conditions is equivalent with the definition of three conditions.

$(2) \Rightarrow (4)$ In Theorem 2.1, if (2) holds, then we have proven that commutative law holds. Invoking it, we have

$$\begin{aligned} a \wedge ((b \wedge d) \vee (a \wedge (c \wedge d))) &= ((c \wedge d) \wedge a) \vee ((b \wedge d) \wedge a) \text{ (by } M_{11}) \\ &= ((d \wedge c) \wedge a) \vee ((d \wedge b) \wedge a) \text{ (by commutative law)} \\ &= (d \wedge (c \wedge a)) \vee (d \wedge (b \wedge a)) \text{ (by } M_{12}). \end{aligned}$$

It means that equation M_{21} holds, i.e., (4) holds.

(4) \Rightarrow (2) Set $a = b = d = 1$, $c = a$ in M_{21} , by M_{22} , we have

$$1 \wedge ((1 \wedge 1) \vee (1 \wedge (a \wedge 1))) = (1 \wedge (a \wedge 1)) \vee (1 \wedge (1 \wedge 1)), \text{ i.e., } 1 \vee (a \wedge 1) = 1. \quad (5)$$

Set $b = c = d = 1$ in M_{21} , by M_{22} , we have

$$a \wedge ((1 \wedge 1) \vee (a \wedge (1 \wedge 1))) = (1 \wedge (1 \wedge a)) \vee (1 \wedge (1 \wedge a)),$$

i.e.,

$$a \wedge (1 \vee (a \wedge 1)) = a \vee a,$$

by (5), we have

$$a \wedge 1 = a \vee a. \quad (6)$$

Set $a = b = c = 1$, $d = a$ in M_{21} , we have

$$1 \wedge ((1 \wedge a) \vee (1 \wedge (1 \wedge a))) = (a \wedge (1 \wedge 1)) \vee (a \wedge (1 \wedge 1)),$$

by M_{21} , we have

$$a \vee a = (a \wedge 1) \vee (a \wedge 1),$$

by (6), we have

$$a \vee a = (a \vee a) \vee (a \vee a),$$

if we regard $a \vee a$ as a' , we have

$$a' = a' \vee a',$$

again by (6), we have

$$a \wedge 1 = a. \quad (7)$$

Set $d = 1$ in M_{21} , by M_{22} , we have

$$a \wedge ((b \wedge d) \vee (a \wedge (c \wedge d))) = a \wedge ((b \wedge 1) \vee (a \wedge (c \wedge 1))) = a \wedge (b \vee (a \wedge c)),$$

$$(d \wedge (c \wedge a)) \vee (d \wedge (b \wedge a)) = (1 \wedge (c \wedge a)) \vee (1 \wedge (b \wedge a)) = (c \wedge a) \vee (b \wedge a),$$

so from the above, we know $a \wedge (b \vee (a \wedge c)) = (c \wedge a) \vee (b \wedge a)$, i.e., equation M_{11} holds.

From the proof of Theorem 2.1, we know that M_{11} and M_{13} yield that idempotent law, absorptive law and commutative law hold. Set $c = b$ in M_{21} , we have

$$a \wedge ((b \wedge d) \vee (a \wedge (c \wedge d))) = a \wedge ((b \wedge d) \vee (a \wedge (b \wedge d))) = a \wedge (b \wedge d),$$

$$(d \wedge (c \wedge a)) \vee (d \wedge (b \wedge a)) = (d \wedge (b \wedge a)) \vee (d \wedge (b \wedge a)) = (a \wedge b) \wedge d.$$

Then we know $a \wedge (b \wedge d) = (a \wedge b) \wedge d$, i.e., equation M_{12} holds.

From the above, equation (2) holds. So we can conclude that definition of two conditions is equivalent with the definition of three conditions. This completes the proof.

References

- [1] Jie Chen, Lattice preliminary, J. Inner Mongolia Univ., 1988.
- [2] G. Grtzer, Lattice Theory, W. H. Freeman, San Francisco, Cal., 1971.
- [3] G. Grtzer, General Lattice Theory, Academic Press, New York, 1978.
- [4] Miaoling Wu and Kunlong Zhang, The other two equivalent definitions of modular lattices with unit element, J. Inner Mongolia Univ. 21(5) (2007), 1-3.